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Fiber 2507, dchi2frac= 1.0

data model residuals
2 2 2
$ 9, $ S, w9,
0- + & 0 % 0- o %
e o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.04.5 1..@.53.88.54.04.5 —0.10.00.10.20.30.4



Fiber 289, dchi2frac= 1.0

data model residuals
2 1 2 - 2 - °
0 - ‘{ 0 ‘f 0 - %
o @
-2 - -2 - -2 -
B T T T

2 3 4 5 © 2 3 45 6 7 -0806040.2.00.2



Fiber 4617, dchi2frac= 1.0

data model residuals

2 2 2
e

oo Peo oo dd
0 % 0 % 0

e Yo e
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 152.0253.035 -0320.0.00.10.20.30.4



Fiber 2450, dchi2frac= 1.0

data model residuals
2 2 2
PY Qo
° ®
0 - ‘x 0 ‘x 0 - % X
. % $
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.02.53.03.54.04.5 2.2.3.6.3.4.5.6.5.0 —-1.60.80.60.40.2.0



Fiber 4615, dchi2frac= 1.0

data model residuals
2 2 2 o
°
0 k‘. 0 k"‘ 0 go.o
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.0.2.2.3.6.5.¢4.5 1.0.2.2.3.6.3.¢.5.0 —0.20.00.20.40.6



Fiber 2283, dchi2frac= 1.0

data model residuals

23456738 2 3 45 6 7 0.00.51.01.22.@.53.0



Fiber 144, dchi2frac= 1.0

data model residuals
2 2 2
o. o. o J.
0 0 - 0 pd
..5’ "ﬁ’ ®*“e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

0O 1 2 3 4 0 1 2 3 4 —04030-20.0.00.1



Fiber 2312, dchi2frac= 0.9

data model residuals
2 2 2
®x ®x & o
0- LAY 0- e 0- e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2345678 2 3 45 6 7 0 1 2 3 4



Fiber 232, dchi2frac= 1.0

data model residuals
2 - 2 - 2 1 °
'.. ... o ©
o] o o B [ %
-2 - -2 - -2 -
B T T T

2 3 4 5 6 2 345606 7 -643000.D.2



Fiber 2454, dchi2frac= 1.0

data model residuals
2 2 2
. "S& °] "ib . "’?-
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1. 25Q02520B5303550  1.25@02520B5303550 —0-4MO03mM 05 1M 1520



Fiber 2200, dchi2frac= 1.0

data model residuals
2 2 2
)
2B JCIE S 2
® °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 1.52.02.53.03.5 —020.D.00.10.20.3



Fiber 462, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o ° °
. ° . ° 0 1 o0
0 o .‘ 0 o .‘ [ ) “
(¥
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

0.51.01.52.02.53.0 1.01.52.02.53.0 -0.40.20.00.20.40.6



Fiber 2494, dchi2frac= 1.0

data model residuals

2 2 2
o ® L

0 A o <o 0 - o *e 0 A X

% <%,

°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1520 253.035 2 3 4 5 6 —2.6-1.5-1.6-0.50.0



Fiber 4643, dchi2frac= 1.0

data model residuals
2 2 ° 2 a
o °
N S S X S P S
CYC e ©
° ° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.@.53.8.4.4.5 2 3 4 5 6 -—121-60-8-60-40.0.0




Fiber 2601, dchi2frac= 1.0

data model residuals
2 2 2
o e
o oﬂ&' o oﬂ&' . oﬂ“’
9P o ® L
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

0.00.51.01.52.02.53.0  0.00.51.01.52.02.53.0 —-0.40.30.20.D.00.1



Fiber 2709, dchi2frac= 1.0

data model residuals
2 2 2
c’. c’. c’.
0 0 0
%% % %%
° ° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

4 6 8 10 2 3 45 6 7 -0603.0.2@.5.0



Fiber 2616, dchi2frac= 1.0

data model residuals
2 2 2
o e
o. o. o(
01  _Nge 071  oge 07 %
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.8.43.00.5.0 1.2.2.3.6.53.6..5.6.5 - 1=508-/E50Q3N AR50



Fiber 2706, dchi2frac= 0.9

data model residuals
2 2 2

@ =) e
0- og 0 ° @ 0- o}

° ¢ °

°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

23456789 2 3 4 5 6 01 2 3 4



Fiber 2714, dchi2frac= 1.0

data model residuals
2 2 2
o o) [
o & | &€ | %
-2 - -2 - -2 -
B T T T

EEE O a1
2 3 4567 2 3 4 5 6 —0.2.00.20.40.60.8



Fiber 2540, dchi2frac= 1.0

data model residuals
2 2 2
°o@ ®
of "%y o] "N o] °%E
°® e °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.38.8.51.00.5.0 2 3 4 5 06 7 -1.5-1.6-0.50.0



Fiber 2646, dchi2frac= 1.0

data model residuals
2 2 2
ol & o] & ] &
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

0.51.01.52.02.53.0 0.51.01.52.02.53.03.5 -0.2-0.10.0 0.1 0.2



Fiber 4634, dchi2frac= 1.0

data model residuals
2 . 2 o 2
% [ % [ e ©
0 &. 0 &. 0 - .):.
o o
~2- -2 - -2 - oo
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 1 2 3 456 7 -k0-864020.24



Fiber 2461, dchi2frac= 1.0

data model residuals
2 2 2
S A A R
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.5 1.5 2.0 2.5 3.0 3.5 -04030-20.D.00.10.2



Fiber 4809, dchi2frac= 1.0

data model residuals
2 2 2
of <@ o] B o] P
)
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.0253.035 1.52.0253.03.5 -0.40.30.20.10.00.1



Fiber 178, dchi2frac= 1.0

data model residuals
2 1 2 2 1
° ° .
i o i o ) [
of . W3e |of  &3a |of , Ae
° ° )
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.3.@¢.5.0 1.2.2.3.6.3%.¢0.5.0 —-04-3-200.D.D.3



Fiber 280, dchi2frac= 1.0

data model residuals
2 2 2
) o ”
0 0 o4 ©® &
° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.3.3.6.5.0 2 3 4 5 —-0.8-0.6-0.4-0.20.0



Fiber 1099, dchi2frac= 1.0

data model residuals
2 2 2

Y Y o
of & o] & o &

° ° e

° °

-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 45 6 2 3 45 6 7 -06040.D.00.20.40.6



Fiber 212, dchi2frac= 1.0

data model residuals
2 2 2
Y Y ®
0 1 éﬁo‘ 0 - éﬁo' 0 - '3& y
° ° e ° °
-2 -2 - -2 -
B S R S S T

1 2 3 4 5 1 2 3 4 5 6 -0.30.20.10.00.1



Fiber 2134, dchi2frac= 1.0

data model residuals
2 2 2
o ° °
o1 e o1 e 0{ %@
o [ ) o®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

23456789 2 3 45 6 7 0005101520



Fiber 2470, dchi2frac= 1.0

data model residuals
2 1 2 2 1
¢ o
@ @
0 ’.‘ 0 - ’O‘ 04 e X
oo oo
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.@2.33.883.4.04.5 2 3 456 7 -2526151.60.30.0



Fiber 2013, dchi2frac= 1.0

data model residuals
2 2 2
o'. o'. 4
i ] i o
0 J”o 0 J”o 0 ¢J“o
°
-2 -2 - -2 -
B S R S S T
L e S ——

2 3 4 5 6 2 3 4 5 6 -00.0.0.10.D.3.9.5



Fiber 390, dchi2frac= 1.0

data model residuals
2 1 2 2 1
o
0 A ) 0 o 0 A 'z
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 1.52.02.53.03.54.0 —0Z261ET00.80AH10



Fiber 929, dchi2frac= 1.0

data model residuals
2 2 2
° ° ° °
0 - "" 0 - ’" 0 - X
° °,
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2



Fiber 778, dchi2frac= 1.0

data model residuals

2 2 2
°

0 " ° 0- " 01 %

° °® .
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2
[ —

2.02.53.03.54.04.5 1.52.02.53.03.54.04.5 —0.80.60.40.20.00.2



Fiber 436, dchi2frac= 1.0

data model residuals
2 2 2
0- '.o 0 "o 0- X
9] o
-2 - -2 - -2 - °
B T T T

2 3 4 5 6 2 3 4567 -1.60.80.60.40.20.0



Fiber 2363, dchi2frac= 1.0

data model residuals
2 2 2
° ° °
() () o
o{ ¢ %ex 04 o Cex o] o ®ex
[ ) ‘ o ‘ [ ] \
° ° °
-2 -2 - -2 -
B S R S S T
— ] e e

2345678910

2 345 6 7

0.00.51.01.52.0




Fiber 2518, dchi2frac= 1.0

data model residuals

2 2 2
°

0 A oo 0 A o0 04 © %

224 24

°®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2
[ —

— ) e
—-2.61.51.60.50.0

1.2.2.8.8.5.6.5.0 2 3 45 6 7



Fiber 2205, dchi2frac= 1.0

data model residuals
2 2 2
¢ ¢
0 - 0‘&. 0 - 0‘&. 0 - 0‘&.
o o o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2



Fiber 2103, dchi2frac= 1.0

data model residuals
2 2 2
0- '&: 0- 'é: 0- 'é.
o
-2 - -2 - -2 -
B T T T

0.5.0.2.@.33.B.5 0.51.01.52.02.53.0 —-0.10.00.10.20.3



Fiber 2711, dchi2frac= 1.0

data model residuals

2 3 4 5 6 1 2 3 4 5 6 -03020.0.00.10.20.3



Fiber 2409, dchi2frac= 1.0

data model residuals
2 2 2
® o o
01 ," 01 N 01 ¥
o0 e o o SO
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

EEE O -
-10 1 2 3 -101 2 3 4 -08-0-4020.2.9.6



Fiber 2777, dchi2frac= 1.0

data model residuals
2 2 2
® ® %
of Mpr o] e o) R
-2 -2 - -2 -
B T T T

1.0.2.2.3.6.5.60.5 1.00.2.@2.53.3.54.04.5 -0.20.00.20.40.6



Fiber 2759, dchi2frac= 1.0

data model residuals
2 2 2
®e o ®q o S ®
0 )% 0 }% 07 )%
-2 -2 - -2 -
B S R S S T

2 3 45 6 7 2 3 4 5 6 -0.0.0.10.0.3.9.5



Fiber 2936, dchi2frac= 1.0

data model residuals
2 2 2
o® ' ® o0
0 X 0 X 0 8 x
Qe Qe Qe
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.0.3.8.51.4.5.0 1.52.02.53.03.54.04.5 -0.6-0.4-0.20.0 0.2



Fiber 2383, dchi2frac= 1.0

data model residuals
2 2 2
0 1 .‘X 0 - .‘X 01 o0 %
e %o o % ° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 2 3456 78 -1.5-1.6-0.50.0



Fiber 4408, dchi2frac= 1.0

data model residuals
2 2 2
o0 e ]
° ° °
0 0- & 0 Be
o )
Qn Q» °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 1.52.02.53.03.54.0 —-0:262016-10.0300.05



Fiber 305, dchi2frac= 1.0

data model residuals

0 [ ¥ 0 f ¥ 0 - o ®
3 % E

o o ® >Q‘
~2 - -2 -2
-2 0 2 -2 0 2 -2 0 2
L ee—

1.0.2.2.383.6.5.0.5 1.0.2.@.3.8.54.0¢.5 -0.3-0.20.10.0 0.1



Fiber 2026, dchi2frac= 1.0

data model residuals
2 2 2
e
X
0 - '.‘o 0 3'.‘<¢ o{ @
® 9
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.3.8.5.00.5.6.%.0 34567 8 —-25261.5160.9.0



Fiber 4708, dchi2frac= 1.0

data model residuals
2 1 2 2 1
°
3 { ()
0 4 rs. 0 @ 0
o} * Y
° )
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 2 3456 78 -2.061.51.6-0.50.0



Fiber 2181, dchi2frac= 1.0

data model residuals
2 2 2
o X @ X ® X
0 .‘goo 0- .‘Q.. 0 A .oo
(Y ° (Y )
° e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2
BT ] B )
4 6 8 10 345678 -2-101 2 3




Fiber 2115, dchi2frac= 1.0

data model residuals
2 1 2 2 1
0 VG Qo o
01 'o‘u 01 'o‘u 01 ...‘(Q
-2 1 -2 -2
B T T T

2.2.53.8.%.00.%5.0 2.02.53.03.54.04.55.0 —0.D2.00.20.40.60.8



Fiber 4949, dchi2frac= 1.0

data model residuals

2 A 2 2 A °

&

0.0.9.0.2.@.53.B.5 0.1.0.2.2.3.6.3.0 -04030.20.D.00.1



Fiber 4642, dchi2frac= 1.0

data model residuals

2 2 2
°

° ° °

IR U B
°
-2 -2 - -2 - ®
-2 0 2 -2 0 2 -2 0 2

-2 EF+-06053.0 -3-2-1 0 1 —06-5-4-3-2(10.0.D.3



Fiber 654, dchi2frac= 1.0

data model residuals
2 2 2
° ° °
0- 29, 0 %, 0-
"o "o ° PY < °
° °
-2 -2 - -2 - °




Fiber 192, dchi2frac= 1.0

data model residuals

2 2 2
°

° ® @ ©
0 8%, o1 U 8%, |0 d

oo oo X
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

2 3 456 7 23450678 - 205002 0.2



Fiber 700, dchi2frac= 1.0

data model residuals
2 1 2 2 1
° [ X0 e * o
0 - <1’o 0 - <1’o 0 1 ©Co
° ® e °
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.3.54.04.5 1.2.2.3.63.5.00.5.0 -0:80-6040.D.00.2



Fiber 4945, dchi2frac= 1.0

data model residuals
2 2 2
L] L]
of B of B of 98
C (™ P
-2 -2 - -2 -
B T T T

23456789 2 3456 7 0.00.51.01.52.0



Fiber 2228, dchi2frac= 1.0

data model residuals
2 2 2

9 ' ¢ o
0- o 0 % 04 "0 ™

°
° ° ®
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.8.54.0.5.0 2 3 45 6 7 -2.61.51.6-0.50.0



Fiber 2043, dchi2frac= 1.0

data model residuals
2 2 2
e o
i o i ) |l @ X
of %N ol c ke o
-2 -2 - -2 - °
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.5%.0.5.0 2 3 4 5 6 7 —2:52:01-51-60.9.0



Fiber 975, dchi2frac= 1.0

data model residuals
2 2 2 °
0- iy 0- L 0 %
° ®e °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.02.53.03.54.04.5 2 3 4 5 6 -l42-08049.00



Fiber 2352, dchi2frac= 1.0

data model residuals
°
2 2 2
0 ‘.; 0 '.; 01° %3
° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

012 3 45 0123456 —1-21-00-80-60-40.2.0



Fiber 599, dchi2frac= 1.0

data model residuals
°
2 2 2
(] “
° ° Y °®
0 - .%. o 0 - .%. [ ) 0 -
X @ X @ X
° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 7 2345678910 -—-3@-20-5-0.6.0.5



Fiber 2504, dchi2frac= 1.0

data model residuals
2 2 2
ol % o] & |of B
%® o % o 0% o
-2 -2 - -2 -
B T T T

2 3 4 5 6 2 3 4 5 6 —0.D0.00.10.20.30.40.5



Fiber 2433, dchi2frac= 1.0

data model residuals
2 2 2
o o °
0 0 0 o ®
e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 1.52.02.53.03.54.04.5 —-0-&B40-3-20.0.D.2



Fiber 2458, dchi2frac= 1.0

data model residuals
2 3 2 .. 2
® ™ )
of ‘@ o ¢ o x
[ ] ([ ]
-2 -2 - -2 - °
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 23456789 -4 -3-2-10



Fiber 659, dchi2frac= 1.0

data model residuals
2 2 2 °
o 0,‘ °1 o Q’. 01 X
0% @ 0% ©® e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 23 456 78 -IH42086020



Fiber 329, dchi2frac= 1.0

data model residuals
2 2 2
°
o1 @ o1 @ | oF
o © o © [ ]
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.@.3.B.54.%.5 1.2.2.3.8.%.00.5.0 -0-20.D.00.10.20.3



Fiber 2435, dchi2frac= 1.0

data model residuals
2 2 2
u. ‘.. ..
°1 % |°] w2 |0 M?
-2 - -2 - -2 -
B T T T

1.2.(2.53.8.54.04.55.0 2.2.83.8.%.00.5.0 —03020.D.00.10.2



Fiber 4521, dchi2frac= 1.0

data model residuals
2 2 2 °
o ® o ® o
o{ Be% o{ Be% 0 Se 2
o ° ° o ° ° [ )
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

-10 1 2 3 4 -10 1 2 3 45 —0.6-0.4-0.20.0



Fiber 438, dchi2frac= 1.0

data model residuals
2 2 2
0 - 1Hi: 0 tii 0 - ® °
)
-2 - -2 - -2 -
B T T T

1.5 2.0 25 3.0 1.52.0253.03.5 -0-&5403200.0.1



Fiber 628, dchi2frac= 1.0

data model residuals
2 2 2
o{ Y@ |0 ‘Ygg 0] etay
e °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1520253035 152.0253.03.54.0 -04030-20.D.00.1



Fiber 2668, dchi2frac= 1.0

data model residuals
2 2 2
°
0- “k 01 "x 0- "x
®. ¢
-2 -2 - -2 - °
-2 0 2 -2 0 2 -2 0 2

2345678910 2345678 0




Fiber 2642, dchi2frac= 1.0

data model residuals
2 2 2

e o o

® ]

04 & o |01 o o |of >

] )

[ (Y °
-2 -2 - -2 -

-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.5.00.5.0 2 3 4 5 6 -26151.60.50.00.5



Fiber 2746, dchi2frac= 1.0

data model residuals
2 2 2
° °
® ®
0 Oy © 0 1 On © 01 @ O @
“:. O‘;. 2
-2 -2 - -2 -




Fiber 573, dchi2frac= 1.0

data model residuals

1.2.2.3.6.3.4.5.6.5 2 3 45 6 7 -1A4-2-03-®92.0



Fiber 4622, dchi2frac= 1.0

data model residuals
2 2 2
g g g
ol & o1 & o 0{ @ %P
e °®
° °
-2 -2 - -2 -
B T T T

2 3 4 5 1.2.2.3.6.53.0.5.0 -0.80.60.40.D.00.2



Fiber 585, dchi2frac= 1.0

data model residuals

2 2 2 o

‘> g y
0 0 0

.><0 .><0 X

e °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 2345678 -2.0151.0-0.50.0



Fiber 75, dchi2frac= 1.0

data model residuals
2 2 2
°
L@ ‘@ “e
< °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.53.8.4.%%.5.0 1.2.2.3.8.3.6..5.6.5 —0403020.0.00.10.2



Fiber 4849, dchi2frac= 1.0

data model residuals
2 2 2
e O
0 S 0- ® 0 ®
V. Ve u Ve x
-2 -2 - -2 -
B T T T

1 234567 123456718 -0:806040.D.00.2



Fiber 2114, dchi2frac= 1.0

data model residuals
2 2 2
1 ‘. | $. 01 v.
-2 - -2 - -2 -
B S R S S T

23456789 234506178 0.00.20.40.60.81.0



Fiber 956, dchi2frac= 1.0

data model residuals
2 2 2 o
e
01 ocde 01 © o008 0 - Y
° ° °
.; .; .o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 2

1 2 3 4 5 1 2 3 4 5 —0.4-0.20.0 0.2 0.4



Fiber 2424, dchi2frac= 1.0

data model residuals
2 2 2
¥ 4 ¥ 4 }
0 ‘ 0 & 0{ @ .
e ° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.6.3.0.5.6.5 2 3 4 5 6 -080.6040.20.00.2



Fiber 372, dchi2frac= 1.0

data model residuals
2 1 2 2 1
°
0 o’.. 0 U 0 . F
@ @ @ @ [ ' K
° °
-2 - -2 - -2 -




Fiber 2764, dchi2frac= 1.0

data model residuals
2 2 2
o o °
o e |o] & o] &
$ $
-2 -2 - -2 -

2345678910 1.2.2.3.68.3%1.0%.5.0 0 1 2 3



Fiber 2839, dchi2frac= 1.0

data model residuals
2 2 2
of? of? o%p
07 oo 09 oo 01 o %
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.04.5 2.12.53.8.54.04.55.0 -0.80.60.40.20.00.2



Fiber 2644, dchi2frac= 1.0

data model residuals
2 1 2 2 1 PS
0 - 4< 0 - 4( 0 -
Y IS o 0 X
°
-2 - -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2.2.3.8.3.0.5.6.5 2 3 45 6 7 —2.6-1.51.6-0.50.0



Fiber 66, dchi2frac= 1.0

data model residuals
°
2 2 2
Peo Pe o
. 0_ o_
0 ‘X ‘X X
° o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 3 4 5 6 23456789 —3:0252:01:51:00.6.0




Fiber 94, dchi2frac= 1.0

data model residuals
2 2 2
4 4
% .2.0 ° '2‘. ° °2.o
-2 - -2 - -2 -
B T T T

2345678 23456 7 8 —-0.D.00.10.20.30.40.5



Fiber 320, dchi2frac= 1.0

data model residuals

0 A h.‘ 0 - .‘~.‘. 0 A ° ‘?.‘

2 3 4 5 6 2 3 4 5 6 -0.60.40.20.00.20.4



Fiber 646, dchi2frac= 1.0

data model residuals
2 2 2
@ ) o 7>
] 4 | o8 ]
0 () 0 o 0 1?’0
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.5 2.0 2.5 3.0 3.5 1.3025Q02520B302550-00-0.0.00.10.0.3.4



Fiber 2250, dchi2frac= 1.0

data model residuals
2 2 2
of B, |of B, |0 %
(N CX ) (X
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2345678910 2 3 4 5 6 7 0.00.51.01.52.02.5



Fiber 4727, dchi2frac= 1.0

data model residuals
2 2
(IS ° e
o
0 - .‘.. 0 .‘.. ( ]
X X
) ] e
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2
—_— 0 e e

23456789

23456789

—-2.61.51.60.50.0




Fiber 890, dchi2frac= 1.0

data model residuals
2 2 2 °
01 o e 01 o ° s 0
’ Pe " ° X
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

T E—— ) ————
2 3 4 5 6 23456738 —2.6-1.5-1.6-0.50.0



Fiber 2493, dchi2frac= 1.0

data model residuals
2 2 2
O’ Oua o’ %
0 ‘&f 0 ‘&f 0 W
0 o
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.3.3.3.4.5.6.5 2 3 4 5 6 —0-80-60-40.0.00.20.4



Fiber 4964, dchi2frac= 1.0

data model residuals
2 2 2
° °
o1 %y o ey |0 %
) ) )
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.52.02.53.03.54.0 15 2.0 25 3.0 35 -03-200.D.2.3.9.5



Fiber 304, dchi2frac= 1.0

data model residuals
2 2 2
T
0 - ‘ o 0 4 ' o 0 - o
SO SCe oS
-2 -2 - -2 -
B T T T

0.0.3..2.2.3..5 0.00.51.01l.2.@.33.0 -040.30.20.D.00.10.2



Fiber 242, dchi2frac= 1.0

data model residuals
2 2 2
° °
® ® c
°
0 - 8 0 8 0 1 o
AT AR AT
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

—-0.6.00.51.01.52.02.5 -0.6.00.51.01.52.02.5 —0.30.20.10.00.10.2



Fiber 4551, dchi2frac= 1.0

data model residuals

2 2 2 °
° ° °

.
i & ] & i o A

0 ":. 0 ":. 0 p

° °
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1.2.2.53.(8.54.4.5 1.2.2.3.3.3.0.5.6.5 —-0-6-54-3-2010.1



Fiber 2362, dchi2frac= 1.0

data model residuals
2 2 2
L L -
i X _ X 4 X
0 L &) 0 &P 0 - T
° ° °
°
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

1 2 3 4 5 1 2 3 4 5 —03020.D.00.10.2



Fiber 4931, dchi2frac= 1.0

data model residuals
2 2 2
o ® ° o ®
0 O 00 0 > X 0 ’&oo
L4 4 ’
-2 -2 - -2 -
-2 0 2 -2 0 2 -2 0 2

2 4 6 8 10 23456178 0.00.51.01.52.0



